
Worksheet # 1 Answer key

I. y=X
?

- faux

y
'
= ✗

%
- see ✗ + tanx . 3-2×+2

2. f- 1×1 = ✗ cosx - sinx

f-
'

a) = xtsinx) t.co/sxli)-cosx/---xsinx
prep

3. y= see
>
✗ = (secx)

'

y'= 71sec x) b. fsecx - tanx) = 7sec
>
✗ - tanx

4. FIX)= tariffs -4 -45secZFF
f-
'

A) = seif .

1

ya
• (-81×7) = ☒

5. y= cos (f) = cos /×
" )

ykfsin (1×1.4×-2) =
sink )

✗2

I prep

6. y=⇒
= @sx)

"

chain Rule :

sinx

Y'=/ (Cosi)
-

Zlfsinx) = copy
<
0-1 also equals

°"

¥.si#x=secx.-tanx0RQuotient Rule :

y
,
=

(05×10%-1 tsinx) matches above

COSZX
=

sin✗

cos ZX

0% notice y=
= secx by definition

↳
y
'
-_ secxtanx equivalent

prep 6

7. fix)= sinb 1×3-5×7 = (sin 1×3-5×1)
f-
'

1×1=6 (sink'- 5×1)? cos 1×3-5×1 . (3×2-5)

sins 1×3-5×1



8. y=F×T
1

Y' = zptax-r.seirx.ly = Seir

4tfrx.ru

[ could also
combine roots

9. sin 1=-1-2

EM
"

÷÷
Point Hy)=tEz

,

-E)
§ §

¥

cosine sine

10 . Hlxtsintx) ↳ H' 1×1--047×17=70517×1

H' 1%1=70%115%71-E) = -7¥
✗- coordinate

↳
Note : from # 9 above we showed the cockpit)= - FE

OR

0
z

11
.
sino -_ 2T¥ ⇒ tan-0=45--32-8

A
OR

7

• -2 sec0÷¥, __ Irs
⇒ E=FF4=Fis=rr-→rs

Note : could also use Identities

I
12 . flxttantx) + cos /2×71-16 COSX Note : sect)=

Xyz)
f-
'

1×1=5442×1.2 - sink) -2 -165in I

= 2sec42×1 -25inch)- Kasim ✓ match =¥q=Z

f' (E)=zs[ecÉÉÑf- zsinf.IN?l6sinF)
I % I4
%=2[seH¥É¥-l6sint£ E.

'

= 2.4 -41¥) -1%(1-2)=8/-53-8%-53 match



13 . Diagram :

10

by
7 Q

✗
→

Variables :

Let ✗ = Distance from base of ladder to the wall

y= Distance from top of ladder to the ground

Given ¥+= -1ft / see .

Find 0¥ = ? when y =3

Equation :

Sino -_÷

Differentiate :

(sin -0) = ⇒ (÷) Note : Need ✗ -value to solve for cos0¥

cos 0.0¥ = To . °¥t
Extra Solvable Information :

10 ✗ 2+32 = ( lo )
2

3
-0

✗ 2--100-9=91
✗?
↳ rat ✗ =

Substitute : Key Moment Info

cos 0 - ¥+=¥¥t

Y÷÷=ÉtD
Solve :

=
-¥(¥ =

-¥ Rad / see .

Answer :

The angle between the ladder and the ground is
Decreasing at a rate of 1g Radians per second .

nnpm
Takes care of minus



14 . Implicit Differentiation

¥ y2 tcosx
=D × .

y
}

Ix

2yd¥ - sinx = × . 350¥
,
ty
? (1) Isolate

mm mm

2yd⇒ - 3xyZd⇒ = ytstsinx Factor

(zy- 3×y2 dI×= Y
> tsim

solve

-

uptsinx¥×=
zy-3×5

prep
15

. Challenge :
,
6×-6

6

d- cos / Fb
+ tan 13×3

DX ¥ + secx

64×-1

6

= - sin ☒ + tantsx.CI#-sex-36i-sex3)--ttanl3xD.f4Y--sextanx)¥ + secx

¥ + secx
2

Chain Rule ↳ Quotient Rule


